
 

HOW TO ASSEMBLE A 2 TIER DUMBBELL RACK ON WHEELS (1.8 SHELVES) 
 

TOOLS REQUIRED 

• 17mm Spanner x2 

• 19mm Spanner x2 
 
(TOOLS NOT PROVIDED) 

 

 
 

 

PARTS & FASTENERS INCLUDED 
 

PARTS 
1. Basecamp Small Upright Frame x2 
2. Shelf SA Dumbbell – 1.8 x2 
3. Bolt On Combination Side Plate x4 
4. 75mm Castor Wheel x4 
 

FASTENERS 
5. M10x90 Hex Head Bolt x8 
6. M10x30 Hex Head Bolt x8 
7. M10 Washer x32 
8. M10 Nyloc Nut x16 
9. M12x70 Hex Head Bolt x4 
10. M12 Washer x8 
11. M12 Nyloc Nut x 4 

 

 
 

 
 



ASSEMBLY 
MAIN ASSEMBLY 

 
 

 

 
 

 
1. Attach 2no 75mm Castor Wheels to the Basecamp Small Upright Frame using 1no M12x70 Hex Head Bolt, 2no 

M12 Washers and 1no M12 Nyloc Nut. Repeat for both the Basecamp Small Upright Frames. Use 19mm 
Spanners. 

 

 
 

 

 
 
 

2. Attach the Bolt On Combination Side Plates to the Basecamp Small Upright Frame using 1no M10x90 Hex Head 
Bolt, 2no M10 Washers and 1no M10 Nyloc Nut. Use 17mm Spanners. 



 

 
 

 
 
 

3. Attach the Shelf SA Dumbbell – 1.8 to the Bolt On Combination Side Plates using 1no M10x30 Hex Head Bolt, 
2no M10 Washers and 1no M10 Nyloc Nut. Use 17mm Spanners. 

 



 


